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Answer All Questions. Ti

el LieirouqSrb a'$guri;oen goi:eugt erlleornd;aair GpnL-irrSoil pquur@oir6n 6iprflqaerflei: L61au 6unq

GanqL-@rb mnr@a. 
li

1. .-2t27\ s

la/ $air GtuguLonerb:

A. s/16 B. - 16/9 C. t6/s D. g

2. 2" x I6x : 128 erafleir x gair GugunarLb:

A. L28/s B. 1.28/32 c. s/J D.

3. x : 5, y: 4 ororfioiir (*' - y\-1/2.

A. 3 B. 1/3 C. 2/3 D.

4. f (x) = -x2 + 6x - 11. affiim f (4x - L):

A. -r6x2 * 32x - 18

C. 'J.6x2 + 16x - 16

B. -1"6x2 * 24x - L6

D. -I6x2 * 24x * LS

s r@):{::: i:#ii,::Tuo, 'l;.f iu ere*ei, /(-4),

6' 3x3 - 1*u - xa - 37 creirp uebgrEurJulair urg:
2

A.3 8.6 C.4

A. 156,185 B. 1,988 C. 2,564 D.

D,



* 25xy - 15y' oeirEurb Ganeoeuu-5leiir anqemflaeft:

;,.5, (2x - y) 5, (r +'3y)

(x + 3y), (2x - y).5, (r + 3y), (2x - y)

13 g$a g1cnuSp 96 m'L-r--ob o5lqb$$ui6b gpp6b 16 e-guuqCIoieir aoL-@gi6lgroara:

B. 37 c. 752 D. 512

efl6$$unoit r = -2,n= 7,Tn= -t28, €S€5 6n6r'oluu@Li€un51 a:

B. -2 c. - 1L6 D. 176

a-emqerll@$u5lei: Sfedr$ or6o{blrrT60T e-6'6r6q6u6o5aefi snamuu@d}airglem: ggryrbu eueo-lo,

€Mbu orfi){E o fiolol @6irgl q15 30 €Uaqb u$ 5lrenftgb orora L6'sT6r1 6ldilgl (6

. ELFS ar15L-ri 6un$grb 15 e-ooroqseft 6[s@t €rlreatuJlcb

Gogl6 6)oErt €{L-enruJlob Etq$p leonqaoieir rqnarfl eiieureu g l8 e356q6

i
eredrerfkbeos6iDu: x eraloiri ud)gnarir@rb' dl6De6 s-oorerlleiir oeuiramfl6anaorul y

6luEu gqr--aoL-ujl6b gq5Fp SiJrbu Dp$b udlgnanir@r-b e.-eoorcrlaofleir eteniouflBarrs6oul

g6niraoru anaiungaofi goeopGu.r,

B.

D.

=15
=18

'8. 30r*72y-tB
(30r+1"2y)/15=lB

D. x+y:18
(x+y)/LB=1515=18

p Grlduq$$i-L-$$eb rr@uL- er5.l6rbqderirglnn. grpaxri' errlqL- gnrgerSlob g
etpoirfeircuqSb geiGeunlg 6u($-FSlcrft EUr6luSOrLb g:eirer:oru q@ir+6i)

0 5,000 et$amno nnzuuL5lorlgdpnn. 30rb genirqeir grqorlloihGung,r

B. 6 3,000,000 C. qq 5,175,000 D. qD 150,000

g'iruD €u(ql,.

c. eoryB. grtGanom D. g6D6
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A.

41

2l6t6ftu5J

dlq6i)

t4. @0 sgJ[ pnu-rLb

A. oLognu-rLb

gnub ggrb.

B. gl6Ganeour C. s6try D.

15' g(u) = Wn gdlul snnit6dr ggrdl Loggrb olrm granpGu-r:

A. u > -2;geflwtis paflnpg g6D6rS51 er60drs6h

C. u a -2; gadurrb porilnfg g{dD6ur65 erorirseir

A : l"ril arairugr elt56in
q66.

B. GpirrurgErg gnurir

dorru r.orpgt pnu-rg!g,rd;6 slor'

C. oLo&dir pnuLrb D. i
'i

I

B. u> -2; giloo)orgigl Gpir

D. u > -2; g{6oolgtgt urmp

€SB rbir@dTuuLr-neb a$eorg suraflomu erllamr

10, 400 gqo6aen
10, 500 gler:6aoir

erllom @o 16 uxiEurb erllorr @al 17 6rpnL-iruna eriouu:oiuup$g deno(brb pryqsoxn

eueor gairgldtu nileoau U 12 €S5 aneo'oruuLl-GufiSt e-6tr-rerla51@$GlunenEr dpatLori;6 300
6au-rpg,t. erilano {b 8 qo lqeo:p6ouuuGungr orir$ueoor g6rr6ql dproru61q' 500

€aeno!$6)pnma Qa @oornglri, plryr.buei:6)pnota Q, @errngrLb, erflarar p geornglrir

16. Gooiroil 65ng!$unL-n6uTgt @fu oroflu-r GpnGonL-@ floroogi 6tpngt$un@ erard;a6SLbGungr

A' Qa:900p-50 B. Qa:300-12p C. ea=500*Bp D.

L7. $ryrbueir Ganrnamgr Q, : 100p - 600
glenpGur:

A. g 1.23, 838 gyeoqqoeir

C. qry 8, 200 grleugoeir

18. x2-4
x--2 )c+2

A. erLorqulgu6ouuL_ajloireozu

8.6
D.g

8.0 c. -4



* 2x2 erairEur-b sdrdlordr

{xs +2x"

clta:su5}ir-nob dlarrr6auGlugtorJ6l:

B. xs+4x c. 4x3+4x ^.3n. i++x

qetrnfluilob

= 0 ropgrrb
d2

*z!< u q5

x2 - 74x * 19 oeirgurir

L2x2-22x-74
24x -22

*t. o Logsutb

ancrruu$rb

*,r r o r.ogErb

anmoruu@rb

enn-5l6iir @qenirL-mb eualou.l@:

B.f"(x)=t7x-22
D'f"(x):4x-tI

B.

D.

frr=o

Lu <o
dxz n

€s6

€s5

Goetreillasnirunerr6;' P = 30 - 2X + \Xz ggoolb, GoeireiSl glaulqaenno X

x2 +T @a,

D. 153

D. 1x3 *7x*c
3

D.4

a.L-$ eiLr--rg gleo'rpulleil

D. g 29,333

(Total:25 Marksl

(xz +3x+Z)dx @air zueoquEglp Glgna:ou-5$:

B. tLAl3 c. 74/3

or6L-n$p cur-a crip$p5lrb tppo$$ 6tau-iu-ruu$d)eitpgt.

5 eu16L- (prgo,5l6b gopn5r-rgein 6ugro$:

B. q5 7,000 C. 1q 5,400

@115 eltoD(gcisnect erilana;urns P a-cttatgJ aafleiir X = 3 qso{etrcrrGung; MR:

B. 28

6utr nu$tscbrF

B. :+C
3

c. 69

6tg;nendu56'

c. f,#. + zx
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r) 
(#)*(p;)' 6o,om m1ry*i;so
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ii) L' --4a4
G Seorar al6eigo'
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G 3,000,0m grpa56lL-nairaogl GLo$6lsnmhL-nir. gpdil g{t u6$6mul 5% oruAoTpgii$oit

@gxb 06irclornqS u6$eou-r 8olo orL-rgolpgi$eb $L-uri B 8O$ CpF6l50 Gaurdlpnir.

r-5lcftanir grpn5L-r9a5l6$gJ dldDu$p G)r-ongbpeirL-q {b 210,000 eggtb.

_ (1)

_ (2)

€torfr geiG)eunE6 ApF6,5L0FdL-r*$$]guri: AtFoSG 6lo'u-rp

CpFn56 Gou:g Glprnarra =

g>SGrS$ Gluu-rg Gpnano :



Q3

iv) 6x4 + gxty - 6x'y' Saror anqamfluu@$g,ra.

a) AB:

i) 
[1 3 -1.1 [1 z or [-6 z 1l

a -l-z ot+):l '=Ll irl c:[ii-;]
pnulnaeir A,B,C egdluemerr$copu uu-reihu$pdl dGp pquuL-$eften pnuniloaflaamn

H
L]
[:]

[]



[:]

L]
[:]

[:]

L]n
[rn

Zc=lt--l r-lE_
X,Y,Z ggdlu glcirgil GtunqSraener e*pu5$l 6lsu-rdlairpg't. glau6iungefu Dpgrb

ooryu.rorglaerfloiir Lo$$unob X,Y Dp$rb Z e-pupdl Geu.ruiuugib el{enorflorem

nGanL-@ rroaiun@soir e-Lo,6qq gryuu@dloiitgr6or. gtn15 x,y,z a&uan glelpGur

6)eu.tu:uugt-b €[6rlal{bo.r6rr 6$ci;d}eiirglem.

_ (1)

_(2)
_ (3)

,'.,2 4gdlulorrr qgreuu6lunqqL-aEg6anar eleoqulmrpulco6orq$, rLoairuns 3 gsargt

euoryuonpu5lan6mulb Odlg6 $l$dairyar.



a) F[uuL06ir6Tr aefiuj atDdirunu$ 615nE5$6snor pnul& oLoairuilLl+6iDtrI

H=H'H
b) Gr-o€eu ugdl a @oi: e-etror 5[6{65D6n uu-rairu$$$ rJleirer.rlSeuarzu$alp ononiro'

As'''r*anc'a ='lE El tlE El 
.'lE

r[]TNI
B ssirgsnulb (MinorMarrix) = ln n nlrtrnn

'tn I []l
C. georoard;sngooflgS g;nu-lb (CofactorMatrix) : ln n nlt[nn

tlnnt
D. z-uehgorg$ snuLrn (AdjointMarrix) =ln n [llnnn



rt_l
s'rurb (lnverse Matrix) : l[--l

Er
[:]n
tt

pnu:$$anm uueituggi;$ @anan snmis.

e-Du5dl Glau:ur6pr9q6.

(Total: 15 Marks)



Q4 i) - 1)("t * 2) erel?oir fi, A** snenfia.

3x2*sx+7
4r _ _- j j

o I 6JI b0t" 2x-1 $eoeor mnonio.

L

ll



,15x2 + 3x -'1,



iv) ! = 2ex'+3'c + tn(tlTffi) oreuiar *, @^* sremfia.

i
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L
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'rrerft 
Gls6D64 srirur6rrgr AC = A.006xz - 0.A2x - 30 + 

5900

x
aairugl Glor.rafl u,lL-geiir orenirewflei;aoau-rn6Lb.

onirq, C(X):

MC (x):

Glru-ru-ruu@LbGunS eioboreu& Gtrouq'



6dg5 6ltD orbu@i e_pug$ 6au_igl eripuamr 6tau_lqrb x grlcr:qq 6lun
C(x) = 250 + 0.00512 €S6b. 6lLonpg 6x(Doner annq R = 4x q6r-b.

a) @zunu ennq p(x) 
@o.rem anenfis.

b) *Ut*> €eoxn orentua.

c) *Ot*l = 0 gut,or gnti;6a,.



) g-or anmiro.

x qeftoflu:nnngl a-eeuqeherflu-rn e$b6Dgt 6U)quq6n6liur 6I6uI
ti



ii i) (qdrps @(b 6lur{b6rflair r gveolqsniren o-su$$ Grrulzugsonour erobooeu 6}aouqa a

5 * L6x - 3x2 eS6b. 5 s[6D(qa6Der q |bug$ G]au_roupganeur GLongp Greoeuorg
6ron'$p 6la.atqaannr3eo:om gtomflo.



lrflfliranoGpolor E@61 penrg 55egaug,r euu-rpiioi: (25 arrqqrrmeraiab) O 25,000'000 StDti;tOb

$l$lg$uL-$$omn (Sinking fund) SeirEr 4qbr5d;dlairpnir' s{6rir eOpP 25

ol16L_ 4Sqriupdl$b aneiruq* GtsujujG6u6o?iltgul uarfli areilerrdfr6q? ouL-E eilFLb

q1peirur cpposr_G arrulull€s6d)en @coniroenir$cn6rnf (qsneu5r 6ldirm.lp orsb

). ApairUr olrTtuul16@)ti,grb ggrybu 6tT& Glelerfluunulaaab 5 7,000 gg6dr'

GluSgurbGlonetrgb €br& p-uunure6bo6'tr deizuq5b

or16rb 5 euqSL-ni5@5(q tDlrprl aLrrgot5r-ors

g[zufi G]lprffq Gluurur Gerrmingu-r geSo$$ ogil?

euq6rb A B C
I 2,000 1,000 4,000

2 2,000 r,500 3,000
aJ 2,000 1,500 2.000

4 2,A04 1,500

5 2,000 3,000

18

lUYo @coreit



6lpflq Oaulu-rGoteuirrgu_t

g5$oneor anryeourb:

@50$0, n


